
REPLACEMENT PARTS CATALOG

WK-1V

KETTLE WARMER

WK-1V  56619 - 240V
  WK-1V  56620 - 120V 
WK-1V  56623 - 240V      
WK-1V  56625 - 120V
WK-1V  56635 - 120V      

    
     
   
     

APW  /  Wyott
FOOD SERVICE EQUIPMENT CO.

DALLAS, TX 75226
Part No. 67116 – Rev 3/2000



WK-1V KETTLE WARMER

ITEM STOCK
NUMBER NUMBER DESCRIPTION

1 56627 KETTLE WRAPPER
2 56739 LEG STAND
3 56736 FOOT
4 55994 ELEMENT COVER
5 56630 LIMITING THERMOSTAT
6 56742 LABEL HOLDER
7 56628 WELL POT
8 55947 CORD 120V
8A 55947 CORD 240V ( PLUG REMOVED )
9 55959 HEATING ELEMENT 120V-500W
9A 55964 HEATING ELEMENT 240V-660W
10 56733 POT SUPPORT BRACKET
11 55696 ANTI ROTATION CLAMP
12 55695 ELEMENT CLAMP
13 89101 STRAIN RELIEF BUSHING
14 50817 HEAT TRANSFER PLATE
15 21395 INSET 11 QT.
16 22795 SLOTTED COVER

56631 WIRING HARNESS
75490 PORCELAIN WIRE NUT
89054 6-32 KEPS NUT
88961 10-24 GREEN HEX NUT
89061 10-24 HEX NUT
89059 #10 EXTERNAL LOCKWASHER
89071 #10 FLAT WASHER
88983 6-32 x 1/2" PAN HEAD SCREW
89006 10-24 x 5/8" PAP HEAD SCREW

Part No. 67116 – Rev 3/2000






